Thursday Task 1 answers.

Possible answers

340 + 2
347 + 1

342 + 0O
345 — 1
344 — 2
345 — 3
546 — 4
347 — 5
348 — 6
349 — 7
350 — 8

When the ones
digit in the 3-digit
number increases,
the ones we
subtract
decreases.

The number line
does not, because
it starts at 340 not
339

Mo, | disagree. Alex
has subtracted 4
tens not 4 ones.



Friday Task 1 answers.

Sometimes, 67 + 8 =75

. o8+ 7 =75
because if your 76 + 8 = 84

78 + 6 =84
ones total 10 or 86 4+ 7 — 93

more you will have | 87+ 6 =93

to exchangethem | 75 is the smallest
: : total.

which will change

the tens digit.

93 is the largest
total.




